Supplementary Data

Table S1. Effect of co-inoculation and/or mineral fertilization on straw yield, Nitrogen and
Phosphate content in grain of chickpea in Merchouch.

Treatment wl:(g)irizpiz\t) Straw yield (q/ha) ch;rin:le(r:;o;n Ngcr(;?rtle(r;/z)i "
NO PO 0.15+0.03 b 51.1+£3.2de 0.18£0.02b 220+0.12c¢
MA72 PO 0.15+0.02 b 87.8+2.7 ab 0.21+£0.03b 2.80 +0.04 bc
MA100 PO 0.15£0.03 b 89.5+2.1ab 0.23+0.02b 2.75+0.06 bc
N120 PO 0.12+0.02b 54.3+0.9 de 0.20+0.02b 4.77 +0.13 ab
M131 NO 0.17£0.01b 89.2+2.2ab 0.40 +0.01a 4.59 +0.08 ab
11\\/[4?;12 0.24+0.04 ab 79.8+3.1bc 0.38+0.02a 4.69 +0.02 ab
l\ﬁﬁg(;o 0.23 £0.02 ab 87.8+3.1ab 0.38+0.02a 494+0.16 a
M131 N120 0.12+0.02 b 81.9+3.6 ab 0.37+£0.02a 4.69 +0.14 ab
P1S6 NO 0.18+0.05b 59.0+0.7 de 0.36 +0.06 a 5.01+0.09 a
MAZ72 P1S6 0.33+£0.02 a 1052+2.1a 0.38+0.02a 4.90 +0.06 ab
1\/113?;(6)0 0.32+0.01 a 104.8+3.6 a 041+0.01a 5.06+0.12 a
P1S6 N120 0.13+0.03 b 106.0+3.9 a 0.40+0.02a 4.64+0.13 ab
NO P80 0.2+ 0.06 ab 76.3 +3.6 bc 044+0.02a 4.35+0.16 ab
MA72 P80 0.24+0.03 ab 80.5+2.1bc 0.38 £0.06 a 4.65+0.12 ab
MA100 P80 0.24+0.02 ab 76.1+3.8 bc 043+0.02a 4.65+0.14 ab
N120 P80 0.15+0.02 b 72.6+3.1bc 0.39+0.03 a 5.06+£0.18 a

Values are mean of four replicates. Mean values (mean + SD). Means followed by the same letter within a

column are not significantly different at o = 0.05.



Table S2. Effect of co-inoculation and/or mineral fertilization on straw yield, Nitrogen and

Phosphate content in grain of chickpea in Ain Sbit.

Treatment wlc:(;:ﬂ;p(:zu) Straw yield (q/ha) P;;ril;e:l;n Ngig?::;; "
NO PO 0.12+0.01 ¢ 20.3+3.2d 0.15+0.02d 244+0.12d
MA72 PO 0.16 +0.01 bc 384+12ab 0.18+0.01d 2.95+0.17 dc
MA100 PO 0.15+0.02 bc 33.4+£2.2bc 0.24 +0.01 cd 2.8+0.21dc
N120 PO 0.12+0.01 c 33.0+£2.3 bc 0.26 £ 0.01 cd 3.73+0.24 ab
M131 NO 0.15+0.01 bc 37.0+1.7 ab 0.37 £ 0.03 abc 2.59+0.17 dc
1\1\//[[?;2 0.21 £0.01 ab 498+35a 0.47£0.01 a 3.77£0.15 ab
l\g/ﬁgio 0.12+0.02 ¢ 43.8+2.2ab 0.42 +0.03 ab 3.76 +0.13 ab
M131 N120 0.16 £ 0.01 bc 514+26a 0.42 £0.02 ab 3.70+£0.21 ab
P1S6 NO 0.12+0.02 c 35.4+£2.8bc 0.45+0.02a 2.72+0.11 dc
MAZ72 P1S6 0.3+0.01a 56.2+3.2a 0.46 £0.01 a 3.92+0.13a
NIID?;SO 0.2+0.01 ab 51.3+28a 0.42+0.02 ab 3.75+0.18 ab
P1S6 N120 0.12+0.01c 233+3.2d 0.46+0.01a 3.70 +0.27 ab
NO P80 0.16 £ 0.01 bc 20.7+2.2d 0.45+0.03 a 2.62+£0.16 dc
MAZ72 P80 0.28+0.01a 31.8+19bc 0.44 £0.02 ab 3.74+0.21 ab
MA100 P80  0.21+0.01ab 374+12ab 0.43+0.04 ab 3.6 +0.19 bc
N120 P80 0.15+0.02 bc 38.3+25ab 0.37 +0.02 abc 390+0.11a

Values are mean of four replicates. Mean values (mean + SD). Means followed by the same letter within a

column are not significantly different at o = 0.05.



